“4< KMS
MERGEDES
DETROIT
EATON
VOLVO

ZF

KUP 3 SERIES

APPLICATIONS

SEPTICTRUCK  CRANE TRUCK
GARBAGETRUCK  DUMP TRUCK
BUCKETTRUCK  FIRE FIGHTING TRUCK
WATERTRUCK ~ TOW TRUCK
GARBAGE TRUCK

KUP 3 SERIES PTO MODEL NUMBER DESIGNATOR & SPECIFICATIONS

DT- -1-P-1-E
DT - Detroit A = 1410 Series Companion Flange
VLV - Volvo B = SAE-B 2 or 4-Bolt Flange, SAE B
MB - Mercedes Shaft (7/8”-137)
EAT - Eaton C = 1%” Round Keyed Shaft
ZF - /F D = SAE-B 2 or 4-Bolt Flange, SAE BB
Shaft (17-15T)
E = DIN 5462 8x32x36 ISO 4-Bolt
KUP3 F = SAE-C 2 or 4-Bolt Flange, SAE C
; Shaft (174-14T)
gane G = SAE-C 2 or 4-Bolt Flange, SAE C
1=12 Shaft (1%4”-23 T)
. Arrangement
L) 1-Type 1 Detroit (DT-120B)
P = Pneumatic 2 - Type 2 Detroit (DT-120D)

3 - Type 1 Volvo I-shift (AT 2412)
4 - Type 2 Volvo I-shift (AT 2412-Int.)

www.toracompany.com ¢ info@toracompany.com « kmspowertakeoff.com




“Z< KMS

KUP 3 SERIES TECHNICAL DETAILS

i
A

5
o
||",_-
O)HI—.:
/
6.3 M18x1,5 5,79
6,99

@ DIN 5462 8x32x36 1SO 4-Bolt

® | Air nlet R 1/8"

Engage/ Disengage Sensor

Con. Torque Raiting (Ib-ft) : 317

Power @ 1000RPM (HP) : 60

Max Working RPM :2500

Optimum Working Temp. : 25-80°C

Short-term Working Temp. : 80-90°C

Risking Working Temp. : Over 90°C

Body Material : US 65-42-42

Weight : 22 Ibs
4 I
Standart Installation Kit
T04-001
Code Qty
1| T04-001 1 68 SIZE GASKET
2 | T06-129 | 4 | M12X65 IMBUS BOLT 88
T06-129

www.toracompany.com ¢ info@Qtoracompany.com  kmspowertakeoff.com




OUTPUT OPTIONS
4 N
746
|
B-D Type Output C Type Output
SAE-B & SAE-BB 1%" Round Keyed Shaft
2 or 4-Bolt Flange
F-G Type Output A Type Output
SAE-C & SAE-CC 1410 Companion Flange
2 or 4-Bolt Flange
. J

www.toracompany.com ¢ info@toracompany.com « kmspowertakeoff.com




o3

R
N\
<
n

DETROIT KIT
4 N\
Cutaway B-B
Scale 1:3
A
. J
4 i ] N\
No Code Description Piece
1 D05-037 Lub. Pump Plate 1
2 T01-004 6009/C3 Bearing 1
3 T05-015 DIN471 @45x1,75 Retaining Ring 1
4 T04-140 Gasket (0,5 mm) 1
5 T06-036 M10X1,5 L:45mm Bolt 8*8 8
. KM-MB-GNL-222 DT-120B PTO Shaft 1
KM-MB-GNL-238 DT-120D PTO Shaft 1
7 T03-105 114X3 0-Ring 1
8 D05-025-1 Plate (30 mm) 1
N J

www.toracompany.com ¢ info@Qtoracompany.com  kmspowertakeoff.com



A\ V7

A

¢

www.toracompany.com ¢ info@toracompany.com « kmspowertakeoff.com

VOLVO KIT
7 N
I
A 7L B_
Cutaway A-A
L Scale 1:3 b,
( - - - \
No Code Description Piece
] KML-2412K-2 PTO Shaft (AT2412C) (219 mm) 1
KML-2412U-2 PTO Shaft (AT2412C) (260mm) 1
2 T05-015 DIN471 @45x1,75 Retaining Ring 2
3 T05-016 472X75 Retaining Ring 1
4 T01-004 6009/C3 Bearing 1
5 T07-003 M12X50 stud 4
6 T04-029 SR 1700 Gasket 1
7 D05-009 R7 Plate 1
8 T08-039 M12 Nut (H:12 MM) 4
\ J
@ www.toracompany.com
@ www.kmspowertakeoff.com @ @ @
info@toracompany.com toracompany
@ 11417 IL 19, Franklin Park, IL 60131
& (630) 785-2410
D (331) 688-4947 e conpRais www.toracompany.com






